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Selection for the post of Technician GrIII/C&W/Mech 
Date of Examination-8/9/21 

Total Marks-100 	 Exam duration- 120 Minutes 

UW I'i 	 fFl 
Please read all the instruction carefully before making any entry in the answer sheet 

1P5)1_ : 7LI fT , 51JJ6/JFLLJ4 p9b/T2/LD 	J'LIL/O7ThJr 	JTLjLTb U/9 	d/IL 

100 
Check that the question paper contains 100 question and if any unprinted/torn pages are found, get it 
replaced. 

oul76i' 100 	rllI,ir 	irr 	ij 	o u 	oith. r21th 	i'iJ76p J706a6iT -y6D6vN 

7yj 7(LILJ76T 	6)6T 	 w57o 	rthojm'th. 

Tu# 1o0 ' Nl TT'3fl 
There will be 100 questions with four multiple choice answers. Each question carries equal mark. 
100 62il'OFT17465 )T JA i 7i c'7/W ,5TOrj 	Lo))T 	 9/6)LiU/LD. 976I7 	ó))T 162//i) 9Jr 

r,J76L),T5T iij?tj6'ti6r 	TT?o1ro7T/. 

3 141k0MR 	 ,1,2,3,4 
Candidates are required to fill only Items No 1,2,3,5 and 11 in the OMR answer sheet. 

1 	 162,ra7ri1fr 1,2,3,5 iith 11 	7uio 

OMR 	 I 	 FI1U 

	

3fF57T!T3f1: 	w{RFit 
.3vtrl/5 	'31ldl 
The OMR answer sheet contains duplicate copy and do not attempt to separate or displays the 
duplicate copy while answering, the shading/darkening done on the original OMR answer sheet will 
automatically appear on the carbon copy and hence no separate shading/darkening required on the carbon 
copy. 

6TLD /1 	 ,n176i,' 	iJL LIc7 P ,ii7J 	6))67T 7h rJ)TLr 	h T6)1)W 	 L rj. 

/66fr 	j7ui7th ó2i7oy'L_j5.if i hi 62T 	 u, ,iroi) T677WT / 1i& 14,2167J3TL 'riD. 

f OMR !jl  fl/fl/T 	 11 	T 	 T T 	J1l 5l 	 5T 

Use only black/blue ballpoint pen for writing/shading/darkening on the OMR sheet. gel pens/pencils are 
not allowed. 
1,'L'Lb / , L'L,I 	VLf 	zT6TL LI TV LJTUP6)TL 	 jJf 'UJ7L/J L///I6TLJj J 	TLD. 	3oL' 

1 /1) 62/1D ?LJ 	oV))6?T L/uJ627rLJ 	9/1JLf 	i',))6V. 

Please enter your 10 digit roll number in the box provided in the answer sheet and darken the 
corresponding circle. 
:9b /55 ,5L1L1L L 	?Ll' / I/ 	L'b 	)/ /'6))f 6T)T6)6))7 1111 621L LL' ,6'IÜ7L al/ID. 

7. 	lQ1 3{R 	3{1T ¶ 	,IT 	dlTh t 	F{'3fT 	5T ff4 fP t 	1i1'l 	1T 11 

I11R 	3J4-11k .3ftT9T 	cllR 5l '44)l 

Write your name in capital letters fill the date of examination and name of the centre put your 
signature in the answer sheet against item number 11 "candidates signature'. 

.ii/IJal)J JiJ/J1:/L' ilj'al) T/ ,, 62/LD. L 	ial/ I) 1iTl J [62/ .iP//T1IJ, 	621 2L/U/62)T/4'/D T,62//L'. 

	

/q62i' 571 11 62) 6? JJ,671J o1y6) 	2iaxwtr. 



1 	100 	 17 	t 3R F&4T7 	1,2,3,4, I ftQ TTq pct, { ci" Ufft (1,2,3,4) 
_ _ __ 	 3fT 

a[9i t l 
Te c1'lci'I- • 	1rçj.j. 

Answers to question 1 to 100 are given in the multiple choice as 1,2,3,4 choose only one correct answer to 
each question from the multiple choice given (1, 2, 3, 4) and darken said the appropriate circle fully. 
Changes are not permitted once answered 
Correct method - • Wrong method - 
1 9oi' 100 )J7o1IT 	 TO71 .,'i'ujrr ioniooui 	1I 4W (1,2,3,4) 	fw ovLiI_ LJ/ui'L' 

iiii 	 i/z1. ia 	i ir 	v7g 	i9uj /oi)cV. 

if!UJT 	57ILP)LD (926 	- 	 JflJ/T5T 	j7U)7LD (f'6)/7 

Rd HI 	I 	( 	 (1/3) 3IT1I 
There is negative marking and one-third of the allotted marks will be deducted for every wrong answer. 

hia 	i 	LJoTb,r 	 9/ 	 (1/3) 16771) 	 DV 1'T1f )V If 3f'L/ 7 LIo)T 

JLaJW. 

OMR #1d'l 	 5T1M )- 3449 ,PIc1I 	 ,t TIT1T 
lct'l' 	Tf5tIT '.'illl I 

Corrections of any type on the OMR sheet (eg- overwriting, cutting, erasing modifying, multiple shading) 
will not be accepted. 

71 	V? /TaJ176V /44', 	/76V, urñJi), Liol) 6J76E. ,ç 	oi' ,jro*,v o/,yjJ 

Iwrd T tTI 	lf3f5T 
ll1ll 

Please handover the answer sheet along with its duplicate copy to the invigilator before leaving the 
examination hail. no answer sheet copy should be carried by the candidate. 

6v6fr 	T6' 9/6)fl26flU 6)FL 	?a roV,g2/ID (97 	onii I71qI* o'Lui o 6?T 

WUTtJT67Tz72LW oiyJi1ii35 	JT?/D. 1? 	, TY&7 L0* 	 FoV6VL7,?oV&6V. 

dllfleclt 	qft&fT fll # Hl1 	T/Plq ZlT f 	 Id 	/d"lfl"l 	 I:,HF 9 
tl 
Candidates are not allowed to keep mobile phones/ electronic gadgets or any other document/ papers with 
them in the examination hall. 

yvuJ''i) 	h?/ 67( /Lo2//r1r OwIT6PLi6v (LJ'r6T6)T 	'Toi 	7"L7T IDVVLD thZr 
I6 TJ3o7XThTYT 	 ?oi'5L' 	2J" 	óV6bl'. 

dl 	 I 
Candidates are allowed to take the question paper with them after the examination. 
L7, T62//I1j5OJT J)/ 	/L6T ó17o)TT16)?61T 	 oL'öV (2/Lf 	o))T). 



1.71 It T 3{/LHB means /LHB miru 

1. itT )i.-i 	1/ Lang Hofmann Busch 

di)Tz/1J/ToLJ (W6)T LJDl. 

3. fTt 1L1il -I 	T/ Linke Hofmann Busch 

6017iI LJ(W6)T L/. 

2. 	 ZFT ,3fzf /WLRRM means____ 

W LR R M om*ijj ......... LH B 	rô6ñ' 

1.AC2ttR/AC2tier/67,f 2 L_LUIi 

3. 7 	1IGuard van / 	ny$ 2,ozir  

2. 	'i4 	T/Linke Half Busch 

6i716vrgu L104  

4. fMT iq'i-i f/Linke Hofmann Bus 

	

dl7J(o 	 ?fD6T L/o7V. 

LHB coaches 

2. AC 3/frTAC3tier /,jf3 Lu,i 

4. '11-II 	1/General coach / 

76)Tq-,i) LTT. 

5T 	BPC means / BPC 

F , /Brake Power Certificate! U71To 	 J7L 

T41-I+11 	1/Block Competency Certificate! LPoJrri 	th J7c 

1/Block Test Certificate! ,i7orir4 	oiJLi 	LPcL 

Tt/None of these! 6rja/th 	i'6))6V 

4. 	tyi4l R it f9k kTrr -Al? How many wagons in BLC set? 

BLC 	4 cii' 	 roir_ 

1.4 	2.5 	 3.6 	 4.7 

5. 	lc1cl 5T 31Q1/ DV mechanically means 

	

1. 	1Fct'c1/Damaged vehicles 

L 'LD 	 cVofl) 

	

3. 	c1-1 Distributor Vacuum 

o1VL f 	LL iT a)JiTLD  

/ 	 DV athijj 

2. 	 T/Distributor valve 

l 	77LPN L L T dJ/TóV)/ 

4. 	 f/None of these 

oTJa,Ith oi)aov 

Uk ZTER 	TT t1i-T 	/ What are the effects of Flat tyre 

Flat tyreo* 	o7ro2156fr 67oT6ff? 

1.:[ c.tl'/Rail fracture/ ui?oi oa°u7r3i 
	

2. 1ctik/Derailment/ i TIIF' 7 LDiTLI 

3. tt tc1c1/ Hot axle! ,iiri-i 	iz57L' 
	

4. 	 Tt/ None of these / 

oT. J6)/L? S,  i'oV 

P-lT Vftt / What are the effects of Brake Binding? Brake Bindingo o 	TIlT 0r7-,,? 

1. 	1k/Derailment / 	1/jo U'c,*/ 	 2. t?  ?TtR/Flat Tyre! oLJnl6TrTL 

3. eZ 1c1c1/ Hot axle! jzrJrLi 	n' 	 4. 	 f/None of these 



8. BCACBM f4M TFF qft JAI0 4 I.l t ? I BCACBM is what type of Goods Train? 

BCACBM 	 i1 9,Ttu76ST? 

1. '11c1I 	Tt 	T19/Coal loading wagon 
	

2. q4-lFPI6 J1/New modified goods 

1 ri) (Viri, lo2kfi6T 
	

XN wra,u 

3. ZT5754 Tt aTT;T/Car Carrier Wagon 
	

4. TI 	T /None of these 

dfi/T,T 3' //7111/T 162/ 5 T 	 67~5jc-,21LbffuV6D6,V 

9. 	 fi 9ffTR TT TT &BVZ1 is what types of Vehicle 

BVZI bT6)7-LI/ 61 	óio 

1.2 Ri" 	k9/2 Wheeler Brake Van 
	

2. t 	T/Air brake Van 

2 &ovii- iJ7j 	ojoi 
	 J/i LP(D 

18 	3M49I8 Wheeler Brake Van 
	

4. 	 T /None of these 
	 p 

8 a)f6viT L.?(l 	616T 	 TJWth 6i)a7oV 	 1 

qTTii # 1cl T19 tt t ? How many wagons in a formation of BTPN? 

BTPN aLi/rwfi 	6,6T Jk 

1.50-4-By 	2.50+2BV 	 3.49+2BV 	 4.52+BV 

11. tT tq f5ET tq TT idtm t ? / What is the colour of Brake pipe? LA;T4 mLi 	T , ith m*o? 

/ 

1.R/ White / 6?62,oiro7,)o?r 

3.1RT/ Red / 96YUL/ 

12. *1111 5T '3{/CBC means 	/ CBC omijj 

i,gRiiIcentre Buffer coupling 

oTL_IT L/OOL/IJ!T 

1.i{ii/ Centre Ball Bearing 

Fo*L,j LJT6l) L/fJ 

2.1/ Green / 

4. 	fTtI None of these 

c1giI62/Li' S, oVa))V 

2. 343fR ct.lR14 I/lR coupling 

I R 	iifi 

4. 9it 	 /None of these 

oijoith o1)o)ôV 
4 

-1 

13. {{N4-I 41'111 fct7 i RM U & Premium BPC Valid for /ij7i/'ii57ujth BPCo 	47uj Lzura, 

12+3 days originating 100%, Enroute 75%/12+3 	 f oi,ji 100%, oTó* OL 75% 

12+3 days originating 90%, Enroute 70%/12+3 ,TLIO* 9 	(d)TLiL4iii/ 90%, 5roir ( i 7 0 % 

12+3 days originating 95%, Enroute 75%/12+3 iri o1 91 	(6)T1_ILJ J 95%, QTT OL 75% 

6000 km/30 days, 7500 km/35 days /6000 9LO / 30 TLi*, 7500 9LO / 35 ,2j/TLo)r 



Lim 

14. Aft tcF Attt 	. fn 	/ CC rake BPC Valid for/ CCu-d BPC 	—iu 	v 

12+3 days originating 100%, Enroute 75%/12+3 	9 - rL4i 100%, oTo* iL 75% 

12+3 days originating 90%, Enroute 70%/12+3 	zLir 	 90%, o7T OL 70% 

12+3 days originating 95%, Enroute 75%/12+3 	iior 9TLL9iJ 95%, om* LI 75% 

6000 km/30 days, 7500 km/35 days /6000 gLe / 30 	Lth 7500 9kff/ 35&fr 

15. 	18 1'i' TT 4qFt 	/ Train 18 has been manufactured by/iriu7oi 18 iuiririroL' 

1. 31lP/RCF/ 67ogL' 
	

2. aff*fltP/lCF /, L,99 - 

3.3t/DRDO/4 	ii gp 
	

4. 311 	/RDSO/,i-i ,-ro-ñ 

1E11ld 	-fl'c1)LI 	5T 3IT 	3Tf t ? / Which one of the following is IT wing of Indian 

Railways? / 	 Jyo 	 7?iu 	U)76)T4 u?i? 

1. fICRlS 	 oTth.' 
	

2. 	1 1 34fCOFMOW/ 

3. 311 	3i/RDSO/ 	,i iq omW 
	

4. 	ll/CORE/ 

17. 	T[ t /BTPN wagon is / BTPN 	io oouiJ 

1. 	Tf/Tank wagon/c 	i 

3. Tzlt aTF/Covered wagon! o,,iy) 'ao*  

2. ttI 	119/Hopper wagon/vii 	62JT 

4. 1't1 	T/Container wagon! 

LIITT 16Y,556ST 

18. .T04d, fr 	Lc 	JN7 3{Rf t / Derailment falls under - class accident. 

6T1 	o)J 	J767T 1J 4 	?'LD617TL 7I11D 

1. R 
	

2. L 
	

3. D 
	

4. G 

How minor leakages in air brake system 

are .zirrested? 	ÔJ/r Liq 	'iu7ot - ,worii 

RT/With CELLO Tape /v- 

1I-lc1I-i 	RT/With NYLON Tape /a,V/rr LLJ 

RI/With TEFFLON Tape / 	V'r 	LdJ 

*1I-I 	RT/With INSULATION Tape / '&o 	ii' 

20. qft ticicfl -lIc1'lIl 5T 	1T1T?? '11l g{uii-  ZTTtTlT? 	What will result if knuckle is broken in a 

goods train on run? 	iisiv 	7quP 	 (knuckle) oiorijj P ,roL' ÔThTTÔT 

1. eZc11c1/Hot Axle/ 	ri± 	ooi.' 	2. f gIcffJ  I/Train Parting/ i 7 riu2or urihi, 



3.1/ Derailment / 	Foiwoi-Li 	4. tEF 3,91' 	R14/Track circuit failure/irLi 

00 Jlli76l7uu1r. 

1TT T1T 	4 lF11 qk ilf ZTT t ? What is the permissible flat on wheel tread in goods train? 

Li th) L 	zO7o/7oL' 6L'L 	L) 	 7jiT,L'LJL± i_ ,6r6 1i 

1. 50 mm 	 2.60 mm 	 3. 70 mm 	 4.80 mm 

.3{R3?T 5T tUf 7q W IdIT t ? What is full form of ROH? 	ROH amrijozfr 7jth m*? 

/Regular Overhauling 	 2.I1c1 1c11T1 I/Rational Overhauling 

v/r6l371I 	 61oT6V 	1?ITr,li/ 

3.ft 	34c1'6TRii/ Risk Overhauling 
	

4. ''cfli 	'iTi1I/Routine Overhauling 

77th 	itroii 	 rirLi, o 

qT1T? What is full form of lOH? 	IOH 	u 	)7,fi62//Tth ommr? 

1. 	~s 3'iTi1 I/lntegrated Overhauling 
	

2 . 	 'iRii/lntermediate Overhauling 

J6TL ITLJ5'L iui 	 oi7j 

3.11{k '3 	iTdi / Immediate overhauling 

7Lhee4LuLi 	60  

4. 	Wd aftqT61~M Intermittent Overhauling 

i76iTL_ h/57Li ?i oani 	j,i- , 

24. t.3R. TT tuf ii 14T liT t ? What is full form of C.R.? 	CR 	ua 	1i,1rth omroi- ? 

Fulc1/Chamber Reservoir! 	thtjii !7o6)i/TLU/T 

tawr ft747 Control Reservoir/ osoLi nrot' 17'7oi,riu,i 

3 . *lc1 ft/Control Relay/ oLirrL' 776v 

4 . fi ffuOT Common Reservoir/ irWo* ir7iowrujif 

25. 	-t: WGSCZ /De-code: WGSCZ/ WGSCZ 6T6STLjA6ST 0107a$? 

;-:q 	 TEItR Fig. ?rEI/ Vestibule self-generation second class two tier freper 

coach/ 	 ü7i6L' 	aL'oii 	ow(oior ?ora*TLi 47a,r,r6iv 2 tud 	az5'i,ijd 

1 	1I-I '5 qffM 	tR TM /Vestibule self-generation second class two tier chair coach 

ifl 	i' 'o1v6L'o036 	oTLi a,rñ 2 , 	Fi- LD/TF 

titV 	 ftR ttR WR /Vestibule self-generation second class chair car 

LqLI?V 	0th 	 TTLi £ormiz) 

1 	-I.i 	1TT 2,ft tZR 1zii 	tET /Vestibule self-generation second class three tier sleeper 

coach! 	iiiztI,jL' 'J'a/J 	aTToJ)T 	T,i)TLi '6)rTñ) 3 1-- 11Ii ñ'o"ij,j i L 



26. 	BOXNHS/ De-code: BOXNHS / BOXNHS 6T6STL1A6iT 7uf? 

1. iM'i/ Bogie Open wagon High sided Air brake High Loading 

(L/? PL16ST 962k66ST 	 e21/r L)? 	óLO j6V,T4jJ 

t' 3?ttT9 TT 	1T tt1 	 ft 	*i / Bogie Open wagon High sided Air brake High 

axle load Low tare weight / ij,r7 uar 	o* 	7oi' vrLi oU 	ii ?ornu?, 

1ft '3?ttH TFT 	1T ttR * 	ff/ Bogie Open wagon High sided Air brake High Speed 

LJTc77 L/YT '61/th5o4T nID6 	?LL ojr /  

ift '3i11E 11TR M WO tq';F tT M fO/Bogie Open wagon High sided Vacuum brake High Speed 

LJ7gLJD* o6YJ565T 	 7LL 16YiNLh L)7 

27. PEASD i tuf I fl jftM t ? What is full form of PEASD ? PEASD 	ijor 	wath 6mTo - ? 

11 	 '3f1T4 Ii1i.-izi 	I1/Passenger Emergency Alarm Single Device 

tJF{cT'T 	iTTT7 /6VJTT1L? £Já76)T Lq ô)ó)/6?V 

-ILI*11 36t 	i-id 1ciii/ Passenger Emergency Auto Single Device 

(ur 	-rwir7grá7 	ir auI&i2oJT 	io 

t45F i*1 '3f14 I1Ile1 1ci'4 I Passenger Emergency Alarm Signal Device 

ir -j3r 6TW 	 6)'TTw J7463FT6V 46)62/6?V 

/4il 	'+11 3f&4 1i'I-ld 	 Passenger Emergency Alarm Signal value Device 

Jwjir± W 	oTY17 /0VT1rID J7O5aToV &VT6,LN 4 oYoi/óñ) 

28. 	1r) IET 	 t W WM WM 	In LHB coach what is SS called? 

omi' om ij? 	roi oL' omñ' oroii.' T.W ,Dfr.V mio? 

1. ft LjcI /Shed Schedule/?D4Li 	 i) 	2.Tttt '1/ Shop Schedule/oi,ri' 	iLc,V 

3.th 	7Sd1 ISick Schedule/ 	ioi' 	4. 9ft ii/ Show Schedule! 	'zT  

29. F{Ilq4-1 	cs1'41i I T1T 14M t ? What is the validity of Premium rake BPC? u"u7uth ra BPC * hzicü) 

o77T6YT 

	

1i +3ff{) r 	 rf* 

V days multiple loading + 3 days grace period in loaded condition 

10,birLir ieLI 	oviriqri + 3 )j/TL6ff gfcTofl) LfuJL ç6)T 	/T?LL 	TLa61T 

2. 15 fkff wi~flwi iiFi +3ff1il1r, 	ft rftif 

15 days multiple loading + 3 days grace period in loaded condition 

15,b,TL 	LrA,q"7c 	6v,,Tqr;t + 3 	 Lu//?1uLi 76iT (J6VQ?LL 	Lqd)oT 

3.12firflii 	1i +3ff1)iiii 3ffrf it 
12 days multiple loading + 3 days grace period in loaded condition 

12ir ILLj7cT l'T4/ + 3;/T 	 Tj0ñ) LfPLUL S1 6ST L'ir?LL 	426YT 

4. 131 T 4l1flIrl rI1I + 31r1iii 39f11fi 

13 days multiple loading + 3 days grace period in loaded condition 

13 , rLiir IL'19LJo?T J0Vri i + 3 ,]i TLf7T JiL'Táfl) LJ"fILILI 	VT2LL 	7-á)1 



30.fk 

-aFr wra zm rrT? 	What will be the brake power percentage if 3 wagons' DV isolated in 60 wagon BOXN 

wagon train? 	60 	roir 	TL BOXN 	iqsor L 77D 	ori 

uuuULLT6i) /;/7uJ L.76i LJOTU'l U6T 'Lp 6Tdil.2167T.Y? 

1.90% 	 2.60% 
	

3. 95% 
	

4. 75% 

31............t 	t51Lfl*11 	 '391 	lT1TiiI1II /End to end rake BPC will be invalid if/ 

	

BPC ,miL ? im*ii (J 	 2f67 	'T oThL 	th: 

1TE1 R'I-I tR 24 t 	 Stable for more than 24 Hrs in examination station! 

ó/ 	WULJLL 	ovUJ7oV 24 w7 	7ñ 	 raL'. 

i1 	{*11 9tRT 	IT9T/Destination not mentioned on loaded train BPC/ 

LDV!T?LL 1 /TU)7oT ULPjuJ7,V 7L&7V4 (6To46T 	LJLLL/LJLTLDoV 	 6i) 

W 	 c1Ic1 	tRjReplacement of more than four wagons! 

(LDoV W Toi) 

1.a7bTfI a and bistrue/a&bii 	2.a7b7*/ a and cistrue/a&C,t 

3 .b 74 c wt *1 band c is true/b & c tZ 	4. 	Tift 	are true/ 	g,ii oi/Z 

L1,0L1,4t 1ET -4 1bci1 	 How many brake discs are available in LHB Coach? 

LHB 	a%i, j9 oiror U7IJ 	 i162I6Jr6/ 

1. 	Two! ro7y? 2.lTI Four/* 	3. 	IOne/ 961 	4.3fl/ Eight! oTLi? 

eff T4Uff 217 14M ET t ? What are hot axle symptoms? ODIrL X6id%V 7thith6iv 	vimi' 6mmr? 

a. TO Tq:TM 	1/ Warm axle box 
	

b. ITT 74 TIIUc1 	T/ Red hot axle box 

6217-W o96i Lro1iJ 
	

TL DiTL 	i0v LI/T& 

c. TMT *- IiI/Grease splashing 
	

fti Hammering sound. 

P6ñ' 6l'1 
	

VLDf/ /65TL 

1. a, b and c is true! a,b & c j,t7 
	

2.a and cistrue/a&cJ/t7 

3. a, c and d is true/a,c & d 
	

4. All are true! 	orgith 

34. 	itfl 	711'41 	Tt 1TTf? In LHB coach, from where ACP reset done? 

LHB /ri' 	 ACP ?ii u,7,qjj? 

1. 4itET 21IT 3 49tR/On end panel of coach 

T6TL 9LIOTIVLeN 

3i 	cPcv1 9f/ In brake control panel 

3?/ Inside the coach 

6ff6JT 

4.tET 	t5Tt / under frame of the coach 

uiJrh 6)TL: L '7 TVLHTô/ol) 	 Lb T5 	7iJ1 f 
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35. 

What is the feature of H type tight lock CBC provided in LHB coach? 

LHB 155j4AD po*or H-o,i) 	iaV CBC gj7T vthq omr? 

i.i 	-ilTq' /Anti-telescopic/ori 	- 

lZt qid1TI-i/Anti-collision/6*1i4 - 

lZt - 	 /Anti-skid/T,iL9. - 

I 4 I/Anti-climbing/ri - 76rthLJ7i/ 

36. f5 	 7r1frl 	How brake binding in a vehicle can be identified? 

776ioL' ü7 	,uñrii 	4OL1J OTLJLJ4? 

Axle box becoming red hot/ij -ath.' 	jpiriiir wthkjg 

41i wk 0 fi Hammering Sound/cwii 

fi 151 1 I Wheel skidding/th'oL' &47L4ik 

4. tR/BP pressure drop to zero in Loco/ 	oPi.'BP urthLJfl- j 

37. 	tt rET tZ zw& t1 3{fT5iTT 1t1T qm t? What is the maximum limit of flat tyre in Loco & coach ? 

c16v1r 	iijith 	9t' AaorlrL i ui* 	iao y6r6z1' iiuojroi,,? 

1. 60mm 	 2. 70 mm 	 3.50 mm 	 4.40 mm 

38. 31I4lI.4'PtT4 W1i) ipcl,ic1 . ........ /Riding Index of ICF Coach is .........../ 

I C F 	7oi6 	 sth.' ............. 

1. 3.5 	 2. 4.78 
	

3. 5.8 
	

4. 2.2 

39 	 3R 7MM 	4Pft. t l/ Condemn height of Elastomeric Pad is .......mm.! 

LJ1qT 6WLLD 	 U57U5' 

40 	 2. 42 	 3. 46 	 4. None 

40. Tff 

.... mm packing is used in CASNUB Bogie to adjust CBC height! 

CASNUB oLi1T7LLP6STCBC 	uoo 	j17 	 LJ MJ6STLJ(FjAL~tJ57J57VN  

1. 37 	 2. 25 	 3. 35 	 4. None of these! aTA16yth?oi'ooV 

41. #7 tT1ck 2b'iilt fr't ................ 	lltdTl ! Centre pivot of CASNUB Bogie is made of ................/ 

DLJ,Ta7uPoäT 	ni 7ini ................ 

1. 51T 	Cast lron/,roi)Li 5yaj6ST 	 2.T fPr Cast steel/rñ 	oñ'&i 

3. R1T 	/Mild 	 &7iY tcV 	 4. 	l/Stainless Steel/o 	7rcT',l'6?i.' 



42. ii17 T 37ThI i'ii 1fi it fT'TTT9TI / 
	

bearing is used in CASNUB bogie! 

CASNUB ij7uPoL' ui u)ii?th uTi 

1. 	e11I5t /Cylindrical/o7iJ 
	

2. 	c1Ic1l'/ Spherical/67i'c?u11?á&oi.' 

3. 	3 	ICTRB/~7z 	hJ7 
	

4. 	 TNone of these/irjo,th .7diJoov 

43. 1flL)1L1 	 T 	 ........ 	Tt1TI / Piston stroke of BTPN (empty condition) .......mm. / 

roL 7wVu)7V D* LIcfl)L,* 1VL J'TT3........ I óV L15'LLIT I LD 

1. 70±10 	 2. 87±10 	 3. 130±10 	 4. 117±10 

44. t@ 	11 	........ 	 / No. of dump valve in one LHB coach are ........ / 

	

LHB 	ri%i' P oirov LLL)L' 	 6)176* T636T6XYRi09,,5 ....... 

1.08 	 2.02 	 3.06 	 4.04 

45. fFt fI ?ir1ft if T77 f974 11T tl' I / Total no. of dampers in fiat bogie are.......... / 

OgLI/'o)T/TL 9LJJ471Ufl6V P 4,V&V L 	61 76T ?W,T 	 X f6 

1.04 	 2.08 	 3.09 	 4. None of these/oJothbi',,ov 

46. IZt 'l~i-i PT q5T 3fl57 ............... fPft 	i 11ii t i / Size of anti rotation lug is .......... mm! 

TL19 lo7ITITL LL a)?,6)T VT,6576T/6)Tô)/.................LtLL 

1.210x16x16 	2.220x16x16 	3.235x12x12 	4.310x16x16 

47. t4f 	iftF ct)1 	...................... ett t l / The periodicity of pest control in AC coaches is......... / 

90 ~ôi c,j? 	r~7oL' 	J61VL 	TLIToL' 	UIJTVJ........ 

1. 15 days/15,ri 	 2. 7 days! 7,rii* 	 3. 1 month! 1 WTL 

4. None of these/drjo,Iui 

48. f5t #ET -f1 W qgN WZ 3frq q5Tt1TE5T4 ....... l. / After reaching on a accident site first step to .../ 

	

o1J7LJ, J 	 L6) 	L6)/L dT 	 25LUIIJ 	JTIL UJ/....... 

.k-ii i 94ftW ctkUl/Prima facie cause of accident! 

ToT h 	 yoV 	)oL J6)YTL,D7,oV 

VrWft TtfTftI 	Jgt1I/First aid of injured/ rIL/th  

1T/ Protection of site/ 7L, OP, 6 LIT 

94H 	61'-ff/Arranging food! 	'' ihu.,rS ?jtbaL' 



"H1d lgftt 	I*I1 IlTF TT TgTzqTc7 tam .............. /The Maintenance manual of BOXN wagon fitted with 

CASNUB bogie............/ CASNUB u7 	 BOXN 	For UJTW 	L/ oj ...... 

1. G 97 	 2. G 95 	 3. G 70 	4. None ofthese/oio'ioi'o,ov.. 

TT tTg 	 -tiIcP 	fi ''1!.1-1 TT WiTr ftii qTM t ? Which chemical is used for disinfection of 

bio-toilet discharge? / uuiir iru?oviLiqoi 	 uuij)th(76VXL~67LIlr j~oir  

1. c11'fl.1/Chlorine/ 	76Jr/r/7'7r 	 2. *1IcI, tfr/Sulphuric acid/ 	u,i7ai y1L5?6vw 

3. * 	lITk/Sodiumbicarbonate/ 	r,qiuib oXU 	U6YTL 

4.iI11 'c1 I/Hydrogen peroxide/ 6wpDLT&6ST 

i.jk k7-1 t? What is the thickness of brake disc.?Lj7(2T4 ioiiw,&ro, 
&T6)T6T? 

1.100mm 	2.110mm 3.105mm 4.108mm 

52. LHB R 47 D3 47 Tq7rlTq t .ii'fl 	tT? D3 Maintenance Schedule of LHB Coach is done 
? LHB 	496zb D3 	märañ' cw 	iriliuth rt±o*? 

1. 150 days± Idays 
	

2. 120 days ±3days 
3. 180 days± 15 days 
	

4. 90 days ± 7days 

53.4flT ............... ..ttr* Yaw damper is fitted on......../ iur 	thuii. ......... uj 

c?u uLiro1rj 

1. 	/So1e bar! 	roL' u,r,* 	 2. 	ft/Bogie/ii-7 
/Under frame! 	,jq-th 

sf 	r P rift 	wr/Between under frame and bogie frame! 
ç-yow TL/T3g LJ7(W IL'/ID 

54 	 5T3gqI 
'Which part is not used in ICF trolley ? 	?or 	rruPoi' UIT UT uo/? 

1. Akich/Dashpot/ ,riur,i 	 2. iis ith/Side bearer! orL± 

3. VlTi 	il/Shock absorber! 	q- 	-'hj 	4. TTE tt/Drag link! irra L'7i 

55. VUt 	 1i1 	T1ThT 2 What defect is detecting UST test? 
U ST ?i oñi a 	 afw 

1. 3ild 	R/Internal crackI2*j i-ri' 	2. 	R/Externa1 crackIiimi' 
3. 	 flow crack! i-'i- L7T 	4. 	t9ifNone of the above!0T/6thoi.,v 



9iT tR R iif 	Tft 	(IRS-Non IRS) 
T) 

Permissible variations in wheel tread diameter for four-wheeled trolley (IRS-Non IRS) on the same 
axle on BG is - (while turning the wheel) 

BGuo 	 roi7 	(IRS-Non IRS) oi$oi' 467TL 

?u6n57L)76L' 	uJo4oT ....... (0i' 	 ruuqth 

1.0.5mm 
	

2. 0.49 mm 

3. 0.30 mm 
	

4. 0.45 mm 

i11'i 	Fii 	c1, 	 ............. Thiimi 
During full service application, Brake pipe pressure is dropped to ........./ 

oir 	BP ii7........... 	 7aj 

1. 2.0 Kg/cm2 	 2. 1.0 Kg/cm2 	3. 3.0 Kg/cm2 	4. 1.5 Kg/cm2  

'ifPr rY 	 ii 41 7Tfi/ Brake should not apply during insensitivitvy 
test with in .......I 	 thioi 'ii,...... 	zi? 	uuaz, 

1.50 sec 
	

2. 60 sec 	 3. 40 sec 	 4. 30 sec 

I'ci-ii klT? What is the oil level in dashpot? 	ou1r6TuF6v 76V62/6V 

1. 50.0 mm 	 2. 40.0 mm 	3. 75.0 mm 	4. 90.0 mm 

60. RT.1i.1.1dRd f8ffM5TlT/ The weight of the coach is transferred through 
T6Z1)L.  ..... 976VL) 

I. '1I5 	1/Side bearer/ ax$) urit 	 2.Ie11{i 	/Equalizing stay/ 	'/o?i'( 

3. 	R1cP1 iT1/Helical spring/ 	'i' oii'J'ifj4. 	/Bolster/Hmi'6iii- 

61. 	i1ii 	 .......... 
The color code of helical spring of ICF bogie is ..... 
ICF 	J7 	i,17oi th'ifi,or 6V,T ML / 

r,7/Ye11ow, blue, green/ wvth,u&a 
ir r  /Yellow, red, green/ wri 

/White, blue, green/ Ow6iT6P6v, ,Vth, 

Trr,r/ White, red, green/ iofr, &ithi,', 

62. *T {-iIi "A" t 1.14 iwUtr*/ 	Between what, crown clearance "A" is measured 
/ QT 	 fñ' "A" 	 ..... 

1. 	F'Tt I Tr4  IT 	Eir 	I/Between bolster & side frame/ij1r0ii'ai'i i & oLi 65))fL1 	6)L1LJ'oV 



¶i 

	

	I 11 irirr 	k/Between anchor link and primary suspension! 
i' & wu6r7Lzu7oi' 

ut-i ir hr i  ii.-i 	t/Between axle box crown and the crown bolt! 
LJ1r66ñ) 3T62/6T & 7T6)/6)T LJ,ToVL i767L LL176Z) 

'lrt 	t tf rf/None of the 

63. 	i41 Alli v '99' rfr w4 .......... /The '99' code shown on micro processor means..... I 
w7oL' 	 '99' 

T6TL/, 6T 7LM76)T 

VMTt 	 5t/Whole system working perfectly/ 
FVLCLD 7f7uJ (/67floV ibaZvj 

1Z?T qr 	lT 	3ft?1/Choking in air pipeline! 	76ST oj/* uLor'oV6T 

R 	/Some defect in speed sensor/th 47L/L 7o* thJL'L 	ÔiTIi- 

i/None of these! oo,th 76L'6- ov 

64. aW ............... TThT/The Fins provided in between the brake discs for 
I i7n 	 oui?oi 0gifl66i.' 	 uij ..... 

I. 	1an 21T cl*'i VzM 	fl 	.TffTZ/To provide effective cooling during braking! 
2T 9L1,Tgjj  UuJ2/oTh,?T o7I776))UJ 61/pM5 

* 	 5fTt/To minimize weight of brake disc 
U?Tc 	1V92f6L. II] Ô7 L6Y)LU 

11F1T 19 	fl1Z/To provide strength to break disc 
L)795 617LZ2 	6flD6ZflL/ 

117 J1 Zflt 	ffilZ/To increase friction property of brake disc 
!,J7r 6iv7r oior u446,u, 

65. 	 fl5Ttii1ilWT ......... p/Charging time of CR in coaches is..... 
6YLLD. . .1 

1. 150 Sec. 	 2. 160 Sec. 	3. 140 Sec 	4. 120 Sec 

66. ........... itt 	 it 1PT */Oil is strictly prohibited on .....I 
1117OV 67TLu5'4/ 	JLJll 	 LJLJL oIo)T(?LD..... 

*W)1 	tf/Uncoupling device of CBC/ 16th 	ii7oj oavo 	CBC 
*14 *1i.icP /Supporting device of CBC/ 	iiLq/ ooioñ' a1' CBC 
*1*i1 	cii' 	ici'c.i l 	i/Coupler head knuckle and locks of CBC/ 

f 	v'-i 	70i) 	voñ' 	i' CBC 
tTi/None of 

67. Z ti ki t7W 	Pici ttiiit .....If both side lateral dampers removed from 
bogies .....I uT 	 ith 1.VLrai) 	thwi' 

I. 	tr 	3R ilIL1/The coach may derail! 	/rj ' 
c{1 0 t1Tfit[ Ouli1jtjhe centre pivots may displace!oJ'wi 	?ith wirith 

I11/Bo1ster top plank may twist!?iiro 	LrL' UrT7(LDL/1L 



4. c?k.ci 	'iiii)/Lateral socks may increase!v1q- 	irth' 	7,f/th 

68. T%Tfli TCqTgTzl 	wii' s/Primary maintenance is a type of. ..... !U2ow/f7 

?wL6TüTth) ThTLJJ ..... 62/6))th 

I. 	sTi 	I4/Break down maintenance!u?'o-  L.6I&JT 6?W TT6ñ) 

l?4 	Ic1/Preventive maintenance/i 	JoJO1TLq61/ 0wuJ76*Lr65n7v 

3Vfam grtui-i ffit iiit/ Safe to run examination!0 	r 	 o61,o* 

t/None of these! 	jjth7oio- ov 

69. t1 tu 	5T 11  wO ............. p/The main function of anti roll bar is ...../ 	riiq qr6i.' uii-i%r 

ya5O71U  

I. 	1 1 I5T4t II-I1 	9T/To allow rolling action of the coach/ 67,55iriAzT 

w7 
TIi ,i1iii TT4 	f1T 45' -1I1Fo prevent Rolling action of the coach/ 	i4d76i-  j-,roi5li, 

r 

rJr1rcr19 4-Il/To provided strength for bogie! 	 gv'ov 
c1'-fl/To negotiate the track curve/ iqq- 	oi, 	iui 67iL,iu 

70. 1ct'. ........... 	cflti 	 9T c1IIkVGrease of anti roll bar should be replace 
during every...../ 	oi krri' Wi7 	£i% 	uj w 	i'ij,  

tq 'lsi1Frip schedule! i 7th 
Dl '1/ Dl schedule! Dl 
D2 lsi/! D2 
D3 'si/ D3 schedule! D3 9.4LN6D 

l- 

 

Iowmanyunderslungwatertanks 
are provided on WLRRM coaches .....?!WLRRM 	oi.' 	iii oii)oVi 	 LiWö T6oT 

1.2 	 2.3 	 3.4 	 4.1 

72. 	 i5TTrRt 	3iiicic1'id1i 	 .......... t .stRIi? 
If the speed of all axles is same and emergency braking is applied the dump valve will .....? 

mL'ovr 	6flf/,V551D 9 T ôii 	7v 	thiji w?* 	 riJ ithi' - 
o)J/Toi6)/ 

I. !.iRc1it 9t1Tf/Does not respond! 	wi'uii- 1 

3ftE 111 1iTi Definitely respond! 	iqthuir 	/3nuJ6VL/LD 

tIt iR11 1T/ Only one will respond! oiji WL1D 9,FzuVLjg1b 

q1i1i 	'icI) t May be respond! 	L,LvIrLh 

73. zft'1 11gcij7The wheel gauge measures? th"' 	rLTiLJjf ..... 

I. 
The distance between flanges of two wheels on same axle! 

*rJT' 	'fr i..i0r'joñ' a 	n iii76i-' soiror TT6 



0 
1T1 '3t Lc1'1d 	ftfT qft p/The distance between dia and axle! 

__ oth 	7gJLD 76)LU)7V _ 	 jTo 

'iici 	 1/The distance between journal and bearing! 
),L ILJ7V 

4.

q,,r6)FTAy-,5C,5L,b 

g1i 	p/The distance between two wheel! 
6T o'(ó 76)LJU/6V 

74 TtR 	u) # ci'cki r1d 5TZ1TT4t9 	What is the function of Control reservoir in air Brake 
system? ,J7c -4 	 TLr6i' 7962//rLU/f763T 1U6VLJ T63T63T 

T 	I4fci cP'-iI/To control the air pressure/ 671f ij7q-oi 	2'LT/7-6i' 	1L/1U 

1 	I1d cii/To control the DV main valve! DV 	7jj 	 7jijj 

wuildi 	"1I /To control the brake system! LATT4 -,06ivL-th 	r1r6L' ?a',L,uj 

t3ITt P1d 	-1I /To control the AR! AR 	3'rfl-oi 7thiu 

74 f5t1 ci' 	1I15 tfIT1 	4* 	Ia'ci-ti 3FTkT 4i1i .... 	Variation in camber between any two 
spring on a bogie under load should not exceed ..... !ovirLqi/76i' th-ojr 	u oi- 

76-,,L UJ7ÔV 7aLhLM- 	UJ$)4b67b ..... 	o)1?L  

1.10mm 	2.11mm 	 3.13mm 	 4.14mm 

CASNUBui r{i.iirr*? 
What is the condemning wheel diameter in all CASNUB versions? 

o,,oT J CASNUB 	d/jih oiri i$ 	oro/...... 

1.916 mm 	2.906mm 	3.936mm 	4.963mm 

i) 	iIT 	ct'Ti ift_i 	iiif 	1?i1 	1c1 	? 
What is the condemning/wear limit of narrow jaw!wide jaw Adopter crown lugs? 

/arnigr prth 	royor 	70ii 	mu7i/ /o2,'7iu o 7u17i ..... 

1.2mm 	2.4mm 	 3.6mm 	 4.8mm 

UIC 1 11T%1t1 +i*k ii fv 1'c1 1Pi lii TTqM ffiqr WM 
1-low many bearing springs are used in primary suspension for UIC bogie ..... 
U IC u,r7 -1f,76i' 69WII'7 	T6)7 6)T 	O)6)T JLJI 	/)T 

uuu7or? 

1.4 
	

2.6 
	

HIM 

BTPN 	TF1 t ............ -lT 	fRT & Pay load of BTPN tank wagon is ....../ 
BTPN 	 o 	Ju JVTu1 ..... 

1.58.88 tons 	2. 54.28 tons 	3. 55.80 tons 	4. 52.3 tons 

During Hydraulic testing of master valve of tank wagon, the water to be filled up to be.....! 
i-  eYTA,.y 	i - rai'?oi; 	Jurj g 

1. 130cm 	2. 150 cm 	3. 180 cm 	4.200cm 



BLC 	A-5R5T ?4R -lR ....... 	lTI/The tare weight of A-car of BLC wagon is 
/ BLC c 	o- 1%r A-car ki- 0621an. ..... 

1. 21.20 ton. 	2.19.10 ton. 	3.19.80ton. 	4. 20.22 ton. 

BLC I'ciI 3iT~ 	1fI5T .1L111I klT7/How many automatic twist locks are used in 
BLC wagon? BLC 	*ii%i uuiu)th 	 wL4ai La6ivL 	oi7o* 

...... 

1.6 
	

W. 
	 3. 10 

	
4. 12 

BLC -21TF# f'd' TZI5721T q,i.iij 5T 	IT? 	Name the type of coupling used in BLC wagon? 
aVODW d06YP 	 LI(P,~ uv,? 

1. CBC & SLD 
	

2.HTCBC 
3. 	cPUI i/Screw coupling/ i' 	z'oni 

	
4. *ic*'l'i T 1417SIackness draw bars! oiivr-, 

L_ IJiT LJT/r6fl 

LHB 	f1ii-i 19-fl rft?What is the length over body of LHB coaches? 
LHB / 	 wiuu-rth 	ioior? 

1.23570 mm 	2.23545mm 	3.23540mm 	4.23565mm 

............... ift4 tR1 717cft ti The composite 
Brake block in yard for air break train should be changed when thickness is..... 

iuri oi)6Th LJ7 	ii OTuflof76V a5 Lb 1,ulr47L I7q 	 (7ulrN  

wJllJL'L/L 	/6T)W..... 

1. 10.0mm 	2. 15.0mm 	3.20.0mm 	4.25.0mm 

k.ii 1i-ii 	31ii 	vI!.) 3fiTrtIT .............. / 	In accident manual, train parting is under 
/ 	?iri(Tw ioiioi' iuPr 	LLq / .....ol) 	 irorj 

1. J 3 class 	2. J 4 class 	 3. J 5 class 	4. J10 class 
	

4 
C 3W DV 	fT TT1q u 	 fJ j g ci, U 	 T flitiT i1T1T 

Which equipments are not charged, when C3W DV is isolated in twin pipe system? 
I6))?6T 	 ii7oi C 3 W DV 	uuth LIITJ 6Tj 	Ll6)Tk16)T 

frt 	Fi/Brake cylinder only/ ?ri 	wLi7th 

e1 	7E15 ik /Control reservoir and brake cylinder! 
,56)TL Jmi) /f aliruJ/' & L/7(JT 	 IT 

ccki ftAo1ZR t 	jgci, 	 /Control reservoir and auxiliary reservoir! 
L LrroV frT6)JrILJ/r & 	J'oZJoVf foJ/ruJii 

7Rc1, 	ciit 	WSR Auxiliary reservoir and Brake cylinder/ 
fi)0Vf f ,i)j.rllj,j & LJ/IJch c1liL/T 



0 

CASNUBft 	r1 qft Eft 	i 	fkt IS---- ft'r fkr 	 1rr nrr *? 
IS— spec of lubricant used to lubricate center pivot of the CASNUB trolley? 

CASNUB LTIr6euf75D 7ori 	17a2//rL± go L;IY,? 15 zL 	 IS— spec 	9oo*z± 

uuuu7vJ 

1. IS: 495 	2. IS: 449 3. IS :455 	4. 3g'.ilcki 	 of the above/a 	th,?oi'a'a 

........ irir fi 	krrT ii1 	r*i The mechanical code of bitumen tank wagon type is 

	

/ uJ7LLD6áT (JLJ 	61io6T 6)JU)?6T 	Ow4,zlr6yi7,ki56V c,Q-L...... 

I.TBT 	 2.TBAT 	 3.TRP 
	

4. TPR 

CASNUB ZfttiI 	 1f5T 	I5T i)ii jftm? 
$rhich types of steel are used in side frame column friction plates of CASNUB bogie? 

CASNUB 

	

	47u1767 aÔLI arth 61r6vLb u71f7,hcT6iT i?6)rL46i) 6T à2/6DoT 5Wk6l) 

AL~LIS,5~>N 

1. 9t11/Mild steel/ o,uoi? ouiiaL' 	 2. c*Ii 	kT/Carbon steel! irduoiir O'LLOiJ 

FR1ct) t/Silico manganese steel!,i7*0(T,,s/r wr,oiPaii' thioi) 

3 11 	t/None of the above! 

As per which article, Hindi is the official language of the union and its script is Devanagari?! 

1D7llj /9476T 	/1)I6V 	W 	agJ7?6miTLJ/w 	óii7 iiqovth 	oii9 omrjth og 

	

7oi/7i' 	 uiroir? 

1. 	245(6)/Article 245(6) 
	

2. 	& 343(1) /Article 343(1) 

3. 3324(2)/ Article324(2) 
	

4. 31432(3) Article 432(3) 

OR 

9LLHB 	# d11tt 	1i.i fi ........ tthI Curtains and Rexene seats provided on LHB 
coaches are:/ LHB LT 	67175i.' ofrojr 	*jth67Th604T F Lh ..... 

"ADMJU"L ?6JT67T1 

I 	Fiber made! 00,,nLlLjlr 
	

2. 31t Fire retardant! a1JuJ/i Lr,o,i 

3.3f/ Fire proof! ALuLl 	oOO L-i 
	

4. g,)cI T-/All of above! ?6a2/ 

'q(.-"0DT 

The committee of parliament on official language 

consists of.....mernbers./ 	TLTLDoiTV, ?6L' fp/6J6V c?LD 	/T6)T 	4o2/76V jq off 	6Li?6)T/r36717oT 

......... 



1. 26 	 2. 32 	 3. 54 	 4.30 

[.J 

92. 	th 	TfTfkf 71rfl TIt 1i fT ............. .?1'ft/If the brake pads are wearing out in taper 

condition, the correct action will be ...../J -  cii 	.LLJLJi 	6)7V 	uJLLT6)TLD 	6)LIIJ1D LJiTJ 

	

O-TOZULILIL- 	TLqUJ/..... 

1. 	 fitt 	iii/ Allow the brake pads in same condition/L17T5 uooir 

75,oVui76iWwLDXILJLJJ 
/Replace the brake pads immediately//LJ7 	uoor wrL5Lzuzrc 	jjo-vj 

*ii 45Riti 	 Replace the brake caliper unit immediately/u7cr 	rouaf7,.ioz_ 

0 L 67-4 LU/T6 UYT7jJJ)JJ 

1 Ti/None of these! joith 	i'o,ov 

4. 
93. .......... rtr 	nrrmr 3rfTftm 1976 	 i'frriirr I 

The official language rules 1976 are come into force in entire India except the state of..... 

1976 	 Jo2jÔVO1  67LD 7y7 iith 	tP1rX&46vA AaT 	 io 

u)LhLJLiLJ. 

I. IU/JharkhandJ ,i i 	 2. 5V.1IKerala/0r6)r,r 

3. d1I0-11./Tamil Nadu/ ? 
	

4. dII-II/Telangana/v/r17r 

OR 
93. CBC TT 	icei 	Fii i.......... t Horizontal gathering range of CBC is ...../ 

CB ooi' 	 ..... 

1.100mm 	 2.145mm 	3.110mm 
	

4.119 mm 

94. 3iu.J-ii-I 3 Pcili't f5T 	3ftT?T '3fFiJAndaman and Nicobar comes under which region/ 

LDll67T; 735 	ITLJ 	 LJ7ILJ76)T df ó)iáV/ 

1.0 	 2.B 	 3.A 	 4.13 
______ 	OR ___ 

LHB 	 TI5T 	UI 1'*I 	dT?Side wall of LHB Coaches are manufactured from? 
6Tf769T 	o2JfloV 	6(// 	 UVj 

1. Austenitic steel (SS 304M) 
	

2. IRSM-41 
3. Ferritic steel (SS-409M) 

	
4. IRSM-44 

1c1 	 I15I iiigi ITdT?When 1-lindi day celebrated every year? 9i,70i,1r 

* oTL/(.oLJ'T/ 	/TWLTLUJflJ 

1. Sep 14 
	

2. Oct l6 	 1Sep16 
	

4. Oct 14 



0 

95. 	 of the function of Anchor links? 

csu1e-k.' 	ZIJF WTT 4r4i1 t "ulcl-tl/To prevent rational movement of bolster! 
?U)Lfl'76)T JT6yovoil 	 TL16Z,L ($'LJL/J 

- 	 1I5 	ih-il/To join bolster and side frame! 
.LJ6)?VLii iDJV2ILD 	LJ o7TLJZJ/ 

.3ftR t5 	ft.3R t 	'ii)ii/To connect with upper plank and lower plank! 

,91L~LJli L76J7Th)T35 w,V2fW VllLLJ'r H6T8i6)X 	ô)WL/LJ/ 

Tl l qd 	 of the above!oothoi'ov 

96. RT71AM 31f t1141 963 w4 t1Tft1 3T ?When was Official Language Act 1963 passed? 

1963 	/o2mVa 'o1zP1ryf1 ,th ,r aI7uij? 

1.05.10.1963 	 2.14.09.1963 
	

3. 10.05.1963 
	

4. 14.10.1963 

it 
OR 

96. fiT jkui) 3f4T5T 34T Rii .3 	'ict1 	I1T 	?At what schedule, the over hauling and 
testing of alarm chain apparatus is? 

,m 	w1th 	th'i 	ii 91ovIrTzb ?zu?,* 	u,itoñ' 6q5 	?oioL' 6*67rJ? 

I. 'A' schedule 
	

2. 'C' schedules 
3. 'B' schedule 
	

4. Special schedule 

97. Li .ii 74 TTtR 	3{fttrTh 963 	f5E 	 31ThT 

Circulars & Memorandums comes under which section of the Official language Act 1963? 

1963 /gvJo2Jov ?w/ry57 LL7oi) 	ovth 	 o 	 i90 

1. Sec 3(1) 
	

2. Sec 3(2) 	 3. Sec 3(3) 
	

4.sec 3(4) 

OR 

97. 	 ff 	ui j 

Th!average coefficient of friction of composite brake block is? 

thij17-957i± JkT 	 76i ,oib 	6o'ôi7Uo*I± 	0th 

1.0.20 
	

2. 0.30 
	

3. 0.25 
	

4. 0.35 

98.flTtfPTf5T 4-i1lc1l 4Y ,3RtTfT 3fl1T? Department of Official language comes under which Ministry? 

/d)Jol'J LPT7j3  

I. 	i14 	-lIe1Ministry of Personnel! 

2. 	1M/Ministry of Home Affairs/ 	 cvrth  

3. 	 HIHMinistry of Home Parliamentary Affairs/ ô2,76L' 	uaiãr 



4. I1TR R1.1M-I 41I014/Ministry of Civil Aviationl (v,rth 

OR 

ICF 	 flci-fl 	i'i*? 
How much length of LHB coach is increased in compression of ICF coach? 

IC F 	áoa 	LHB c735j4 cT.i1.216miyX6vLPj-ujTN? 

1. Appx-3.0 meter 	 2.Appx-2.0 meter 

3. Appx-1.5 meter 	 4. None of the above16TN q1tbS61Y6n6v 

99.3j1Rlct 	f1c11-1 WcII1 	 I'd1i 3tP1TtdT? 	How much marks to be scored 

by Stenographer for passing the prescribed exams to get maximum incentive ? 	uii 

9( 	 UUU77 JT62176V 	/6Z0LU1 U/6T1q1U 	I 
wu000ir 6T6ilo2le,7roal? 

1. 88% & above 	 2. 90% & above 	3.95 % & above 	 4. 92% & above 

OR 

LHB 	T 5T 3t 	 5T 9T ?IT tfrhe under frame of LHB coach is fabricated of ...../ 

LHB 	 , o 00 ii7th 

1. 	Cast steeI/oirthI thoi' 	 2. 11?ict1-i 	/Silicon steel! iW&T6ST th'ioi' 

3. . 9Wd1I/MiId SteeI/awoii'ii 	 4. 	ili l/StainIess Steel/a 	uJ7oth?ath.' aii'ioi' 

W zft4 # f1Tr flTZ zftI 1tI  tt ?Who are eligible to be trained in the Hindi courses? 

/77 	oi7ai.' ijuJ7 	 oijafr zug? 

ivftxrq 

All the Central Govt. employees in Class IV and above! 

Class IV ii'z,th 	cwav/raT 	?6J LD7UJ 9/Já Prry57LUr9,&r 

2.,i 41III 3q 

All the Central Govt. employees in Class III and above! 

Class III ixii 	J1D6V,ro7 	arj u7ui yu 	 añ 

3. 7-4tu1 II 

All the Central Govt. employees in Class II and above! 

Class II Liijith 	 ifr 

I3'R 

All the Central Govt. employees in Class I and above/ 

Class I LLôJJth 	 ir$21U 



e) 
OR 

100. CDTS * 3TrTrr RTFOr ? What do you mean by CDTS ? CDTS -*ij? 

1. t17141 	 ______ 
Control distance testing system! 	 2. 'S 	1tI1 ___ ii'_i-i Controlled discharge 
toilet system! 

6?VL ID 	 956)TL 9roV 	 L11-UI6VL I761VLLh 

3. afTAw rsi' TtI  Rii-iCompact disc type system! 4. 3L4 c11 	 91None of the above/ 
oni d7oiith 	 th7oiJov 

qS 



 

 

 

 . 
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SOUTHERN RAILWAY: CHENNAL DIVISION 
WRITTEN EXAMINATION FOR THE POST OF TECHNICIAN GR.III/C&W 

MECJI (25% LDCE) INSTRUCTIONS TO THE CANDIDATES 

Check that the Question Paper contains 110 questions and if any unprinted/torn pages are found, get it 
replaced.  
There will be 110 questions with four multiple choice answers. Each Question carrics equal mark. There 
will be negative mark (a 1/3 for each wrong answer. 
It may be noted that in the event of any doubt/discrepancy, the most apt option and the English version 
will prevail. The candidates appearing for the exam are requested to clarify their doubts about any 
questions/option, at the beginning of/ during the examination, so that the same shall be clarified/ 
corrected/substituted, for the benefit of all.  
candidates are required to fill Itein.s' No.! to liii, the OMR answer sheet. Use only Blue/Black Ball 
Point Pen for writing/shading/darkening on the OMR Sheet. Gel Pens/Pencils are not allowed. 
Please enter your Employee No ONLY in the Box provided in the Answer Sheet and darken the 
corresponding circle. - 	 - 
The OMR answer sheet contains duplicate copy and DO NOT ATTEMPT TO SEPARATE OR 
DISPLACE THE DUPLICATE COPY WHILE ANSWERING. 
The shading/darkening done on the original OMR answer sheet will automatically appear on the 
Carbonless Copy and hence no separate shading/darkening requires on the carbonless copy. 
Corrections of any type on the OMR Sheet (eg. overwriting, cutting, erasing or alterations of any type in 
the answer) will not he accepted. Zero marks will be given for such answers. No replacement O\1R 
sheet will be provided.  
Answers to Questions I to 110 are given in the multiple choice as A,B,C,D. Choose only one correct 
answer to each question from the multiple choice given (A,B,C,D) and darken/shade the appropriate 
circle fully. Changes are not permitted once answered. 
Correct Method 	 Wrono Methods 

S- -_______ _p 
Candidates are strictly advised to answer only 100 questions out of 110 questions. The first attempted 
100 questions will be evaluated and answering more than 100 will be ignored even though correctly 
answered. Answering of questions in official language is NOT COMPULSORY. 

10. rpiease  handover the OMR sheet along with its duplicate copy to the invigilator before leaving the 
examination hall. No OMR sheet copy should be carried by the candidate. Candidates are allowed to 
take the Question Paper with them after the examination. 

!ICandidates are not allowed to keel) mobile phones/electronic gadgets or any other 
documents/papers with them in the Examination Hall. Inspite of all the instructions if any 
candidate is found to be carrving such eguipments, candidates will be disivalified unconditionally. 
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Max.11aik:100 	 Time:120 Minutes 

The world's highest railway bridge will come up over which Indian River? 
(A) GANGA 	(B) GODAVARI 	(C) NARMADA 	 (D) CHENAB 

Coupler used in Train 18 is................................ 

(A)IRS Coupler 	(B) AAR-H Coupler (C) Semi-Permanent Dellner Coupler (D)Slack less 
Drawbar 

P01-I of old ICF Coach is done at the interval of------------month. 

(A)24 	 (B) 18 	(C) 12 	(D)30 

Maximum speed of LHB coach is ........Kmph. 

(A) 160 	 (B)ll0 	(C)120 	(D)130 

Maximum Flange thickness of worn wheel profile is ............nim. 

(A)22 	 (B)29.4 	(C)28.5 	(D) 16 

Axle Load of Non- AC ICF coach is-------------ton. 

(A) 16.0 	(B) 13.0 	(C) 20.3 	(D) 18.3 

What does the letter N stand for in the abbreviation PNR Number which is allotted on reservations 
of tickets in Indian Railways? 
(A)Name 	(B) Numerical 	(C) Nominal 	 (D) Notional 

DCP Type fire extinguisher is suitable to extinguish --------------fire. 

(A) Wood 	(B)Petrol 	(C) Electrical 	(D)All 

Axle is checked by ------------ 

(A) UST 	(B) DPT 	(C) Wheel gauge 	(D) None of these 

No. of dump valve in one LHB coach are......... 

(A)02 	 (B)08 	 (C)04 	(D)06 

No. of brakes does the VB has....................... 
(A)4 	 (B)5 	 (C)6 	 (D)7 

Over hauling of Alarm chain system is done after ------------Month. 

(A) 6 	 (B) 3 	 (C) 9 	(D) None of these 

13.Centre pivot of Casnub Bogie is made of ------------ 

(A) Cast Iron 	(B) Cast steel 	(C) Mild Steel (D) Stainless Steel 

14. Riding index of LHB coach is ------------ 

(A) 2.75 	(B) 3.5 	 (C) 3.75 	(D) None of these 

I 



A Solar cell is an electrical dc ice that converts the energy of light directly into electricity by the 

(A) GRAVITY (B) PHOTOSYNTHESIS (C) PHOTO VOLTAIC EFFECT (D) IONISATION 

Pick up the incorrect statement 

(A) Welded joints have better finish 	(B) Welded joints provide rigidity 

(C) A welded joint develops strength of its parent metal 	(D) Welding takes more time than riveting. 

I 7.0ne litre of water occupies a volume of........ 

(A) 100 cc 	 (B) 250cc 	 (C) 1000 cc 	 (D) 500cc 

A manometer is used In measure 

(A) Low pressure. 	(B) Moderate pressure. 	(C) High pressure. 	(D) Atmospheric 

pressure. 

The weight per unit volume of a liquid at a standard teniperature and pressure is called 

(A) Specific weight 	(B) Mass density 	(C) Specific gravity 	(D) None of these 

fl 
	

20. The atmospheric pressure at sea level is 

(A) 110 KN/m 	 (B) 10.3 m of water 	(C) 750mm of Hg 	(F)) All the abo 

Materials not required are returned to the nominated stores depot as per stores code pam number 

(A) S-1539 	 (B) DS-8 	 (C) NS-1 I 	 (D) SS- l I 

Which among following is not a material inspecting agency: 

(A) RDSO 	(B) DOI 	 (C) IRTS 	(D) RITES 

23.75 Litres AR tank used for - 

(A) Toilet purpose 	(B) Braking purpose 	(C)Standhy 	 (D) None of these 

What is the name of cable provided for hand brake! 

(A)Hand brake cable 	(B) Flex ball cable 	(C) Both A&B 	 (D) None of these 

Find the product of all the numbers present on the calculator pad. 

(A) 362880 	 (13) 0 	 (C) 60480 	 (D) 123456789 

What is the limit of air gap between sensor and phonic wheel! 

(A) 1.0 - 5.0 mm 	 (B) 1.0 - 10.0 mm 	(C)0.9 - 1.4 mm 	(D) 1.0 - 2.5 mm 

If micro-processor shows '72' code means - 

(A)Ternporary fault at one axle. 	 (B)Permanent fault at several axles. 

(C)Volatile fault 	 (D) Permanent fault at one axle 

"PEASD' provided in LHB can be reset - 

(A)From under gear of coach only 	 (B)From any where of inside coach 

(C) From the point where chain pulle.I. 	(D)Both A&13 

Condemning limit of brake pad In III B coaches is - 

(A) 10 miii 	 (B) 7 mm 	 (C) 8 mm 	 (D) 9 mm 



30. How many type brakes system provided on LIIB 	car. 

(A)One 	 (B) Two 	 (C) Three 	 (D) Four 

3 1. By pass system is used in brake system when - 

(A) F.P pipe broken 	(B) BY Pipe broken 	(C)Hose pipe broken 	(D) Any of these 

Maximum torque is required for CBC supporting device bolts in LHB coaches. 

(A) 400 Nm 	 (B) 200 Nm 	 (C) 500 Nm 	(D) 550 Nm 

Which of the following is the first railway station of the Indian Railways to run fully on solar 
power? 
(A)New Delhi 	(B) Guwahati 	(C)Nagpur 	 (D)Bengaluru 

What is the full form of WRA? 

(A)Wire relay appliances (B)Water raising apparatus (C) Worker relief arrangement (D) None of these 

In one unit of BLC wagon there are -----------car B unit. 

(A)3 	(B)5 	(C)2 	 (D)4 	 I 

36..Material of Floor sheet of BOXNHL is -------------- 

(A) Mild Steel 	 (B) Corton Steel 	(C) IRSM 44 	 (D) None of these 

Full form of W.S.P - 

(A) Whole System Process 	 (B)Whole system procedure 

(C) Wheel sliding protection 	 (D)None of these 

Which of the following is a tank wagon? 
(A)BTOH 	 (B)BOST 	(C)BRNA 	 (D)BLCAMW 

Capacity of under frame water tank fined in AC/3 tier [FIB coaches 

(A)650 Ltr. 	 (B) 685 Ltr. 	 (C)400 Ltr. 	 (D) 500 Ltrs 

40.Maxirnum test speed of vande bharat is................ 

(A)l8Okmph 	(B)l76kmph 	(C)200kmph 	(D) 160 kmph 

The main function of anti-roll bar is - 

(A)To allow rolling action of the coach 	(B)To prevent Rolling action of the coach 

(C)To provided strength for hogie 	(D) To negotiate the track curve 

I-low much width of shelling on a wheel can be allowed - 

(A) 30 mm 	(B) 40 mm 	 (C) 20 mm 	(D) No shelling allowed 

43.What is SS-l? 

(A)Shop Superintendent-I 	(B) Shop Schedule-I 	(C)None of these 	(F)) All 

44.What is the rank of India in the world in terms of length of railroad network? 
(A) First 	(B)Second 	(C)Third 	 (D)Fourth 

45.Max Hot Box temperature in case of wagon stock is 

(A) 50° C 	(B) 65°  C 	(C) 90° C 	 (D) 80°  C 



46.Height of CBC from rail level in 	ol'A car in BLC wagons is 	mm. 
	 Ck 6  

- . 	(A) 1105 	 (B)840 	 (C) 845 	 (D) 860 

47.ROH peiiodicity of BTPN wagon is 

(A) 1.5 Years 	(B) 2 Years 	(C) 5 Years 	([)) 6 Years 

The Colour of Feed Pipe in twili pipe wagon is - 

(A) Black 	 (B) Yellow 	 (C) Green 	 (D) White 

What is name of hio-toilet bacteria 

(A) Anaerobic Bacteria (B) F Coil bacteria + C 1423 (C) AEROBIC BACTERIA (D) NONE OF 

THESE 

No. of units does Vande bharat has.......................... 

(A)4 Units 	 (B)8 Units 	(C)5 Units 	 (D)3 Units 

5 1 Piston stroke of BVZI is --------------mm. 

(A) 22 	 (B) 32 	 (C) 72 	 (D) None of these. 

52. ........... type of coupler is used in locomotive. 

(A) AAR-E 	 (B) H-type 	 (C) HTEA type 	 (D) Alliance —II 

53.Rcvised cOdal life of blanket used in linen is.........months. 

(A) 14 	(B) 24 	(C) 60 	 (D) 30 

54. The colour of BPC of Premium rakes is ................... 

(A)Yellow 	 (B) Red 	 (C) Green 	 (D) None of these. 

55.13rake pipe pressure is ------------ Kg/cn 

(A) 5 	 (B) 6 	 (C) 3.8 	 (D) 4 

UTS (Unreserved Ticketing System) is a mobile app developed by - 
(A) C-I)AC 	(B) IRCTC 	(C)CRIS 	(D)Infosys 

In air brake stock, BPC becomes invalid, if the rake is stabled in any examination yard- 

(A) 12 hours 	(B) 36 hours 	(C) 48 hours 	(D) 24 hours 

58.What do you mean by FRP.> 

(A) Fibre recalling panel 
	

(B) Fibre reinforced plastic 

(C) First reduction plastic 
	 (D) Fine rein forced panel 

59.Cut off angle cock can he ltted to- 

(A) FP 	 (B) BP 
	

(C) BP&FP both 
	

(D) None o! the above 

60.When DV is working condition the position of DV handle is - 

(A) Horizontal 	 (B) Inclined 	 (C) Veil Lal 
	

(D) Parallel 

61. Sole bar of ICF coach consists ut- 

(A) 7. section 	 (B) I section 	 (C) Y section 	 (D) U section 



Piston stroke (coach) of bogie mounted brake cylindei 

(A) 32 mm 	 (B) 28 mm 	 (C) 36 mm 
	

(D) 38 mm 

Metals that contain iron is called 
(A) Ferrous 	 (B) Non ferrous 	 (C) Alloy 

	
(D) Both A&B 

64.Which state to have India's first privately-run railway station? 
(A) TRIPURA 	(B) ODISHA 	(C) KERELA 

	
(D) MADHYA PRADESH 

65.Full name of ACP is 

(A) Air condition pipe 	(B) Air cooler pipe 12 (C) Alarm chain-pull 	(D) Air cylinder piston 

66.What do you mean by CC rakes? 

(A) Content contact pad. 	(B) Close circuit rake 	(C) Complete coal rake 	(D) All the 
above 

67.l'hc colour coding of distributor valve of air brake goods stock is - 
	 S 

(A) Yellow 	 (B) Black 
	

(C) Green 
	

(D) White 

68.ln wagon, hand brake is used when - 

(A) Standing in yard 
	

(B) Running in down gradient 
(C) Running in up gradient 

	
(D) None of the above 

69. Drilling is a an operation to make 

(A) Holes 	(B) Cutting 	(C) Finishing 	 (D) Marking 

70.What do you mean of SWTR? 

(A) Single wagon test rubber 	 (B) Single wagon test rig 
(C) Sliding wagon test ring 	 (D) None of the above 

71 .The Empty Load Device indicator plate shows - 

(A) Yellow empty, black loaded 	(B) Blue empty, black loaded 
(C) White empty, black loaded 	(D) black empty, blue loaded 

72.What is the purpose of using fish plates in railway tracks? 
(A) fix rails to the sleepers 	 (B) fix sleepers to the ground 
(C)join two rails 	 (D) join two coaches 

Which type of composite brake block is used in freight stock of under frame mounted 
brake system? 

(A) K' type 	 (B) 'L' type 	(C) KL' type 	(D) Modified K' type 

In air brake system, the thread joints are tightened with which type of tape? 

(A) Cello tape 	(B) Teflon tape 	(C) Paper tape 	(D) None of the above 



As per Railway Board, In elIecti\c perccntagc of wagon in open line for SR is - 

(A) S°/ 	 (B) 6% 	(C) 4.0% 	 (D) None of these 

As per new wagon numbering scheme, first two digits will indicate- 

(A) Owning Railway 	(B) Type of wagon 	(C) Year of manufacture (D) Check digit 

What is the weakest link of the center bul'fer coupler? 

(A) Knuckle 	 (B) Draft gear 	(C) Lock 	 (D) Yoke pin 

Find the check digit of BCNAHS 3110169521 

(A)0 	(B)7 (C)3 (D)5 

79.11 sum of two numbers is 13 and sum of their square is 97 what is their product ? 
(A)36 	 (B)72 	 (C)1l0 	 (D)84 

SO. Full form of WILE) 

(A) Wheel Impact Load Detector 	(13) Wheel Inline Load Detector 
(C) Wheel Impact Lie Detector 	(D) None of the above 

81. What is the disadvantage of dampers? 

(A) Suspension may be increased. 	(B) Ridding index may be improved. 
(C) Comfort may be increased. 	 (D) None of above 

82.The total age of three kids in a family is 27 years. What will be the total of their ages after three 
years? 
(A) 39 	(B) 42 	(C) 36 	(D) 30 

83.Sirnplify: 133 - 19 x  2 + 15 
(A)243 	 (B) 110 	 (C) 80 	 (1)) 560 

84.The leverage Ratio is obtained by - 
(A) Brake cylinder 	(B) Tie Rod 	(C) Empty Rod 	 (D) LIE Devices 

85."Die" is a 

	

(A) Internal thread cutting tool 	 (B) External thread cutting tool 
(C) Marking tool 	 (D) None of the above 

C 

What type of cut of angle cock fitted in goods stock? 
(A) Flat type 	(B) Ball type 	 (C) Square type 

The distance between two teeth of hacksaw blade is known as 
(A) PITCFI 	 (B) LEAD 	 (C) SPACE 

In place of empty load box what device is used iii BI.0 wagon? 
(A) BSD 	(13) [SD 	(C) SDF 	 (D) SAB 

(D) None of the above 

(D) SET 

Principle application of brake accelerator is - 
(A) Emergency braking in each coach of rake 

	(B) Partial braking in each coach of rake. 
(C) Similar braking in each coach of rake 

	 (D) None of these. 



90. What is the Iii:lb 01 Anti climbing? 
Protection against climbing of one coach to another in case of accident. 
Protection against telescopic of one coach to another in case of accident. 
Both A&B 
None of these. 

91. What kind of maintenance is used for rolling stock is 
(A) Break down maintenance 	(B) Preventive maintenance 	(C) Both A & B (D) Either A 
or B 

92. What is the full form of HOG? 
(A)End on generation 	(B)Mid on generation (C)Hotel load on generation (D)Head on 
generation 

93. The configuration of End basic unit of vande bharat is.................... 
(A)NDTC + MC + TC + MC 	 (B)DTC + MC + TC + MC 
(C)DTC + NDTC + MC + MC 	 (D)MC + MC + TC + TC 

94. Nos. of levelling valves fitted in a air spring hogie are: 
(A) 02 	(B) 06 	(C) 04 	 (D) 08 

95. The New and condemning wheel diameter of vande bharat is ...... mm 
(A) 952&825 	(B) 915&877 	(C) 952&877 	(D) 952&845 

96. To avoid collision between the trains...............................is used 
(A)KAVACH 	 (B) TCAS 	(C) LBS 	 (D) Parking brake 

97. Where Vande Bharat Express is being produced 
(A) MCF 	 (B) RWF 	 (C) ICF 	(D) RCF 

98. Maximum buffer height of goods wagon is .............. mm. 
(A) 1030 	 (B) 1105 	 (C) 1090 	 (D)995 

99. Sanctioning authority of B class ODC with in division 
(A) DRM 	 (B) COM 	 (C)CRS 	 (D)BOARD 

100. Expand TCMS 
(A)Train control and management system 	 (B) Traffic Control and Monitoring System 
(C)Telecommunication management system 	 (D) Test control and monitoring system 

101.In the terms of the use of the official language, under which region does the Andaman Nicobar 
Islands comes? 
(A) 'B' Region 	(B) 'A' Region 	(C) 'C' Region 	 (D) None of these 

How many languages are enlisted in the Eighth Schedule of the constitution? 
(A) 22 	 (B) 18 	 (C) 16 	 (D) 24 

What is the Official Language of Arunachal Pradesh? 
(A) Hindi 	(B) Urdu 	(C) English 	 (D) Sansktit 

What is the amount of first prize under the Incentive Award Scheme for doing official work 
oritinal ly in Llindi? 

(A) T. 4,000/- 	(B) T. 3,000/- 	(C) T. 2,500/- 	 (D) T. 5,000/- 

Which state the Official Languages Rules,1976 are not applicable to? 
(A) Karnataka 	 (13) Kerala 	(C) Andhra Pradesh 	 (D) Tamilnadu 

0 
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I O(. Who is the Chairman of Divisional Official language Implementation Committee? 
(A) Additional Divisional Railway Manager 	(B) Divisional Railway Manager 
(C) Rajbhasha Adhikari 	 (D) Senior Divisional Personnel Officer 

'What is the preliminary course of Hindi for Central Government employees? 
(A) Praveen 	 (B) Prabodh 	 (C) Pragya 	 (D) None of these 

'Which of the following examination courses for Hindi Language are conducted under the Ilindi 
Teaching Scheme? 
(A) Prabodh, Praveen, Pragya & Parangat 	 (B) Prabodh, Praveen & Pragya 
(C) Hindi Typewriting & Hindi Stenography 	 (D) None of these 

'What is the level of Hindi qualification of Pragya? 
(A) 5th Class equivalent 	 (B) 8th Class equivalent 
(C) 10th Class equivalent 	 (D) None of these 

National hindi day and World hindi day celebrating in............... 
(A)September 14 & October 10 	 (B)Septemnbcr 14 & January 10 
(C) September 14 and September 15 	 (D)October 14 & September14 

U 


